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1. [rank 4] Compute the I/O-complexity of Binary Mergesort when executed on a machine with disk-page size B and memory-size M. 

2. [rank 4+4] Write the pseudo-code of Bounded-Space Quicksort and then simulate it over the array A=[4,1,2,6,3,8], assuming the pivot is chosen as the first item of the array to be sorted (at each recursive call). 
3.  [rank 5+3] Given the string S=abracadabra, compute the LCP-array using the linear-time optimal algorithm. Show, for each LCP, which characters are really scanned in S. 
4. [rank 5] Let us assume that you are given the binary sequence 10101010 produced by the algorithm BWT+MTF. Assuming an MTF-list = {a,b} and $-position = 2 (counting from 0) derive the original string. 

5.  [rank 5] Given the string S=aaccacaacc, show the execution of the Skew algorithm for the first level of recursion, thus solving directly the construction of SA^{2,0}, as done in class. (Comment also the ratio behind every step.)
